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A knot diagranﬂ C10 Cy Cg C3 Cs C11 C2 Ccr
Ideals for irreducible component#ﬂ)f Xpar

I = (" o4 = 3u+1)

* 1 irreducible components of dim¢ = 0, with total 41 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI*=(u**4+u+... —3u+1)

(i) Arc colorings

1
a10 = \ 0
1
a1l = U2
u
a4 —_ u
—u? 41
ag = _u2
—u? 4+ 2u
az = —ud+u
ut —3u? +1
ag = \ub — 2u* — 2
ud —5ub + Tut —2u2 41
a1 = \ gy — 448 + 3ub + 2ut 4+ u?
w — 12019 + - — 8u® 4+ 3u
ag = u?® — 11w+ =3P 4 u
u'? — 7ul® + 17u® — 16u® + 6u* — 5u? + 1
a7 = wl? — 6ul0 + 1248 — 8ub + u* — 2u?
—u?® + 14u? + -+ 10U —u
a6 = \ —u? +13u? 4+ - +2u® +u
—u? 4+ 14u? 4+ -+ 10u® —u
a6 = \ —u? +13u? + -+ 2u® +u
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u3% — 88u3" + - -+ + 20u — 22



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,Cq Wt =0 —u—1
Co2,C5 M+ 130+ 4941
€3, C4, C9 T T |
C10
7 utt +ut 4 —27u — 13
cs, C11 utt — 7y o+ 33u— 23




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cq yM =13y 0 49y —1
C2,Cs ytt 31910 - 469y — 1
€3,C4,C9 gt — 4500 o 49y — 1
C10
e y" + Tyt 417y — 169
cs, C11 y* 27y + -+ 6701y — 529




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v/=1C)

Cusp shape

u= 0.578203 4 0.5919781

4.82587 — 9.585971

—9.09685 + 8.790001

u= 0.578203 — 0.5919781

4.82587 + 9.585971

—9.09685 — 8.790001

u = —0.560583 + 0.5933991

5.64442 4 3.738321

—7.40652 — 3.763641

u = —0.560583 — 0.5933991

5.64442 — 3.738321

—7.40652 + 3.763641

u= 0.566944 + 0.5225381

—0.95032 — 4.407671

—14.5602 + 7.45211

u= 0.566944 — 0.5225381

—0.95032 + 4.407671

—14.5602 — 7.45211

u = —0.727131 + 0.2051921

—0.35537 + 4.912871

—14.9536 — 7.21811

u = —0.727131 — 0.2051921

—0.35537 — 4.912871

—14.9536 4 7.21811

u = —0.416867 + 0.6142751

6.06764 + 0.371991

—6.12023 — 2.743691

u = —0.416867 — 0.614275]

6.06764 — 0.371991

—6.12023 + 2.743691

u=0.394899 4 0.6193831

5.36506 + 5.466101

—7.42623 — 2.573011

u=0.394899 — 0.6193831

5.36506 — 5.466101

—7.42623 + 2.573011

u = —0.490771 4 0.5417231

2.34343 + 1.872711

—6.33668 — 4.083921

u = —0.490771 — 0.5417231

2.34343 — 1.872711

—6.33668 + 4.083921

u = —0.728695

—4.17004

—21.6690

0.639413 + 0.2559481

0.190368 + 0.1708451

—13.47533 4 2.060621

u= 0.639413 — 0.2559481

0.190368 — 0.1708451

—13.47533 — 2.060621

= 0.373862 + 0.5005281

—0.399312 4 0.8166471

—12.47963 — 0.477211

u= 0.373862 — 0.5005281

—0.399312 — 0.8166471

—12.47963 4 0.477211

u = —1.45206 + 0.148187 —0.55160 — 2.789971 0
u = —1.45206 — 0.148187 —0.55160 + 2.789971 0
u= 146754+ 0.156671 —0.01677 — 3.068811 0
u= 146754 —0.156671 —0.01677 + 3.068811 0

u=0.039862 + 0.468366.1

2.07509 — 2.626211

—6.57273 + 3.482221

u= 0.039862 — 0.4683661

2.07509 + 2.626211

—6.57273 — 3.482221

u = —1.52852 4 0.10506.1 —6.77252 + 0.982971 0
u = —1.52852 — 0.105061 —6.77252 — 0.982971 0
uw=1.52598 + 0.148657 —4.35344 — 4.302831 0
u= 152598 —0.14865] —4.35344 + 4.302831 0
u = —1.55359 + 0.039041 —7.11441 + 0.763941 0




Solutions to I V—=1(vol +/—=1CS) Cusp shape
u = —1.55359 — 0.039047 —7.11441 — 0.763941 0
u = 1.54582 4 0.178781 —1.34838 — 6.540871 0
u = 1.54582 — 0.178781 —1.34838 + 6.540871 0
u = —1.55308 + 0.1532171 —8.04273 4 6.856441 0
u = —1.55308 — 0.1532171 —8.04273 — 6.856441 0
u = —1.55361 4 0.179681 —2.26534 4 12.399501 0
u = —1.55361 — 0.179681 —2.26534 — 12.399501 0
u = 1.58360 + 0.041721 —8.17072 — 5.731771 0
u= 1.58360 —0.041721 —8.17072 4 5.731771 0
u = 1.58454 —12.0025 0
u= 0.384337 —0.582535 —17.0140




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,Ce utt — -1
Ca, C5 utt +13u?0 o u 1
€3, C4, Cg utl — w0 3u—1
C10
cr u't w0 4 —27u — 13
Cg,C11 U41 77U40++33U*23




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,Cg M =13y 9y -1
ca, Cs yM 31y o 169y — 1
€3, C4, Cg ytt — 4510 . 9y — 1
C10
cr y* 4+ Tyt 41Ty — 169
cs, C11 yM 4+ 27y%0 + ... 46701y — 529




